
英语四级阅读理解练习题第142组 PDF转换可能丢失图片或格

式，建议阅读原文

https://www.100test.com/kao_ti2020/122/2021_2022__E8_8B_B1_

E8_AF_AD_E5_9B_9B_E7_c83_122572.htm Adblock17.

According to the author, the same educational opportunities cant get

rid of inequality because _____. [A] the principle survival of the

fittest exists [B] Nature ignores equality in dispensing brains and

ability [C] Material rewards are for genuine ability [D] People have

the freedom how to educate their children Adblock18. Who can

obtain more rapid success _____. [A] those with wealth [B] Those

with the best brains [C] Those with the best opportunities [D] Those

who have the ability to catch at opportunities Adblock19. Why does

the author say the new meritocracy can perpetuate itself to a certain

extent? Because _____. [A] money decides everything [B] Private

schools offer advantages over state schools [C] People are free to

choose the way of educating their children [D] Wealth is used for
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